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Solving Absolute Value
~ B Egt_:ations & !:negualities

Absolute Value: Taking the POSITIVE value of a number.

I3t Guadion: Same as ofljmax( W/
ex) /x/=5 xcanbe5or—5‘2’ :[lw@?m" CMN?,L Ho # afb% JCZuL

ex) /x-4/=6 means: e = 1 OFPOStCL.
Jaw?;;.\th) I[x-4=-6) OR Bjuilntx - 4 = o6 | “*EQUAL sign
4 +4 +4  +4 uses “or”
x = 10 OR X = -2

*¥you need 2 equations.. ] Always | U

~The first equation as is, the second equation put the opposite after the =.

** For every type of absolute value equation, once you make the 2 equations,
you must get rid of the absolute value bars.

7¢p‘y\£ AsE 1) Same WS thae 0Yl9mﬂi W/o |
Ex) I3+2x/E11  means 2) Hip the 5'7” & Change % 1o opposibe .

S

A o B+2x<11 AND l3+2x!> -11 “Flip the sign &
w“ﬂs . a3 -3 -3 -3 take the opposite
Saml. 0H WS 2 < g 2x > -14 .

t | . X < 4 AND Xy 7 [*Less'l‘hg_n“ANl)ﬂ

T3 0 LD NS

Set Netafin : §7<I~?,L<X<L}}

Ex) /3x+4/ < 8 1) Same as ort mad. wo | (-Ex) /x/ < 3
) 3x+U €8 And 93xeyz2) IR the sign & Change # %

4\ -4 -y oppesile
X <Y Xz-12
{ 33“ E] l

1)Xx<3 and 2) X >=3
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1) Same as Ofl?mﬂi wolo ) l.

2) FHP the SYn g Wn?ﬂ. # T offﬁ,wél

Ex) /6y-12/ > 36 - means..

*Flip the sign &
take the opposite vj

) 43-\)_>34, OR 4-,.3 < -3b _
L T | T tiz 3
" E(;reatg “OR’Tl '
by z 48 & = S
b) IR |
9SS gk Netadion
Si y<-4 or Y2 8§
ex) /5+2x/ > 3 ex) /3x-7/ > 2
S542X73 OR 5+1X<-3 “3 >4 TOR  3K-F <L -X
] ~5 =5 ‘ —5’_4 3ty +F tF
2% >-2 2X < -8 w2q - <5
2 2- - 2 2- "3 3 3 3
x> =) OR  X<-y x23 OR X&53
— =y
sed Netafion = §x[x <-4 ov x>-1§ Sel N, f’m - ?x 45/300@3}
ex) /x-9/00 ex) /x-9/@0 !
X-9q > o bR, X-9 <0 x-q20 Ad X-4>0
x >q X <9 x<q and X >9
e e < o] 5
N Sv’t NDT&L'hOV\ . No Sslwlien - § S,g/'&
ex) /X+3/@> 10 *you must get rid ex) 2/4x+1/-3 < 7 ngTﬂ )
-1 -1 of the 1 first. Then +3 +3
/x+3/ > 9 you have your 2 equations —%qu+l l < LQ_ => l qx"'ll SS
‘ X+3>9 OR ¥X+3<-9 | 2 B
oy ey e ux+] < 5 And Uxx| =-5
X >6 oY v ol b -1 ! -t ~!
=% piakal g
-12 b & X< 1 ﬁ’“‘ | X)}."—q-
M‘ . X< =-12 oY X>6 % Xl/;'}-
el } Sek Nolafign: $2(- 3<><<l} &
ex) /5x-3/ & 12 ex) /3x+3/ % +6
5X-3 412 Aud 5X-3 >-12 3X+3 26 OR ~3Xt3 £—b
’ *__‘5)( <15 5X'=-19 3)( 2-3 3x £ -9
T3 ad X2 -3 gl i,
g:—_g____g:’:% g)()x<-3 orx>ﬂ

— =t > {y-Yrex <35




